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Sixth Semester B.Com. Degree Examination, April/May 2019
(CBCS Scheme)
Commerce
ADVANCED FINANCIAL MANAGEMENT

Time : 3 Hours| [Max. Marks : 90
Instructions to Candidates : Answers should be written completely either in English or
in Kannada.
SECTION - A /2wri - &
Answer any TEN of the following sub-questions. Each sub-question carres
2 marks. (10 x 2 = 20)
BURE iR st B8 eua-3Brion evddl I3 eva-TFN 2 ©oTe |

% (a) Define Cost of Capital.
woBdTaY d@smimm

(b) What is capital budgeting?
wodmey Swond 3, 2oudesy?

(¢) What is Risk Analysis?
IpgEs DB’ HoTTeRI?

(d) Name two theories of Capital Structure.
wormey Cidol) 0B AWESNYE), #D0%.

(e) State any two assumptions of M.M. Hypothesis of capital structure theory.
wod=ey ouNol hm‘gﬂu&dﬂ‘_‘ MMo=0 a0@) ﬁ&ﬁﬂﬁﬁ@mi.w;!..

()  What is operating cycle?
saoinrgs ¥ soudeny?

(g) State any four components of current assets.
td) eob admshmeEde FReY, @oBnYE) 392

(h) What is theory of irrelevance in Dividend Decision?
eneTRo8 AFFORIDFLAN o3 .ﬁm@as 20ndeay?
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(ij  Write the formula for valuation of shares under :
() Walter’s Dividend Model and

(i) Gordon’s Dividend Model
(ij T20UW enyeod IR0 Fare

i) recdrs esyeod SREDLE HAedinY 3P e80UM AAFCE) 2dod.

(il  Give the meaning of ‘Dematerialisation’.
wzR3cs0m (Dematerialisation] 2000eR07

(k) Expand NSDL and CDSL.
aehrivay 930% : NSDL wrie CDSL.

() A company issues 1,00,000, 10% preference shares of ¥ 10 each. Calculate
cost of preference share redeemable at par after 10 years.

A Fofodn ge. 100 1,00,000 egze deconds) =3 Aedn de. 10 dod 230500, =
dedorivaly, 10 SderY o030 S YR SdhmeSdaiRed, WiRE ud amedonid
S, 5o LBOWD.

SECTION - B/ 2 -
Answer any FIVE of the following questions, Each question carries 5 marks :
(5 x5 =25)
#9Na olnaweace oo SB9T su3dh. %8 38t 5 wosnisd:

What is Demat Account? State the benefits of Demat Account in India.
w2703 aed (Demat Account) aocdeny? wed3nd o andoomarias ai_,n‘]mzsa!rwﬁﬁ% 393,

A Co. issues 10% debentures for T 2,00,000. Rate of tax is 30%. Calculate the
cost of debt after tax if the debenture are issued (a) at par (b} at a discount
of 10%.

A gozdoin dae. 2,00,000r¢ de. 100 momgdndsy 23oxed. (dorab ©o e 30). &
wmeIIIWY, (a) SwD WAt D (b) Be 108 Anclobd 3»00Y 8gE 3rens oM Jo30
TR ;ﬁza’ua'ii% sor &R0

Ramu Ltd is expecting an annual EBIT of 7 1,00,000. The company has
7 4,00,000 in 10% debentures. The equity capitalisation rate is 12.5%. The
company proposes to issue additional equity shares of T 1,00,000 and use the
proceeds for redemption of debentures of ¥ 1,00,000. Calculate the value of the
firm (v) and overall cost of capital (ko) under ‘Net Income (NI) Approach.

oeay Aoket Sedrd 301 m@: dp=r esy dwe. 1,00,000. sosnobd de. 100
dn. 4,00,000 370,8 DOV, TEPF, Aech wormeder3 IFNH 59 Je. 12.5. Fojodn
de. 1,00,000 3RPeZY PERT dedonivs)y DEond IREe mauhd% womosE BHTD
da. 1,00,000 3PeE Mmezdnd) Indtedser suzolaid. soss Fowred, 5ofob
SPe, warle b330 wOETYEOLE WOSW), V=Y sl AmRod E wiabd sors bR,

o



Q.P. Code - 53606

Two projects are under consideration by Krishna Ltd, Both the projects require
an equal investment of ¥ 1,80,000 each. You are required to suggest the suitable
project with the help of the cash inflows and their associated probabilities as
follows :

Project ‘R’ Project ‘S’
Possible events Cash  Probabilities Cash  Probabilities
Inflows Inflows
A 144000 0.10 240000 0.10
B 180000 0.15 360000 0.20
C 216000 0.40 288000 0.40
0o 246000 0.20 216000 0.20
E 288000 0.10 144000 0.10

i'ﬂ% Hookict ﬁaﬁmod.‘.i.} o svsorl oo ﬂiﬂfﬁﬁ!ﬂt’s’ﬁi ﬁﬁﬁi‘ﬁfﬂ%d. = Ej&ﬂi@um olaesdn
3rens wodsed de. 1,80,000. ﬁ.ﬂt%it‘bd Mﬁ;# ancy Y =203 EﬁJELJJ angSneoldng
Zs0bbor admd mmme%ﬁ%ﬁﬁum e I

odeesd ‘woe olecws ‘an®
nogiadeod srea aqy &0 WODE zoyiSheahd ASY B WADE  FoydZNeodd
[] 144000 0.10 240000 0.10
(A 180000 0.15 360000 0.20
) 216000 0.40 288000 0.40
& 246000 0.20 216000 0.20
e 288000 0.10 144000 0.10

The following information is available in respect of the rate of return on
Investment and Earnings per share of Vivek Ltd.

Cost of capital (K) = 12%

Rate of return on Investment (r) = 12%

Earnings per share (EPS) =% 10

Determine the value of its share using Gordon’s model assuming the following :
3 BoRod BABT Socdd vyt WY wormed =13 ®arie I3 dedrl woeab & Fhmod
Uz;fjmﬂzﬁ ’

worey P (K) = ge. 12

BA0E DoedT woriw O (r] = de. 12

@8 d@elr! umaod (EPS) = de. 10

senm I0zofndon recdrmd E.:t:amoad sgon Soed Hﬂﬁmoi) s@eoond dﬁ:.}adma H0@E)
Sataodb ¢

D/P ratio (1-b) Retention ratio (b)
(a) 100 0
(b) 80 20
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India Limited is engaged in customer retailing. You are required to forecast their
working capital requirement from the following information :

Projected annual sales =¥ 6,50,000
Percentage (%) of net profit on sales =20%
Average credit allowed to debtors = 10 weeks
Average credit allowed by creditors = 4 weeks

Average stock holding in terms of sales requirement =8 weeks

Allow 10% for contingencies,

moBoim ﬁuﬂmnin dod m@sdeEd %dﬁﬁ@d% ., #unt i.r&!p::s Snbicod dewy ewd
u;ﬂa;ﬁ waBsiad mdmﬁ;ﬂﬂi B0 30imBd

TOAFT BOIRE) SI0k3 = ga. 6,50,000
Snoets Sreds ASY LRyt JER =ge 20
abedndrt Dedod or 30080 83D = 10 =0
gedrieh QeEod Mo 05D BI = 4 o>
S0kl BﬁdﬁﬁﬁﬁﬁmeH 308 Zor® S0 Bk = 8 S=unwy

Hﬂé}ﬁﬁﬂﬁ ﬁr:mgbhd%ét 10.

Briefly explain the theories of Dividend Policy.
eRega08 dedody ATROINYE), soga=eh AZ0A.

SECTION - C/aer - &
Answer any THREE of the following questions. Each question carries 15 marks :
(3 x 15 = 45)
$YAT cdpa)mende Sueds SZn9rt eudd:. I3 I3 15 Bosnie

A firm presents the following information relating to cost of capital.

Capital Sources Amount ) Cost of capital

after tax
Equity 1,00,000 129%
Debt 1,00,000 4495

The firm wishes to raise a fund for ¥ 50,000 for the purpose of an Investment
proposal. It also decides to take it the same from a financial institution at a cost
of 10%. Compute the weighted average cost of capital before and after additional
financing assuming that the corporate rate of tax is 40%.




10.
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Lo Fomodn 3, woBeY ddﬁﬁ aowobig adddﬂﬁgla’! #¥Ndod deddd :

o

LOTESRY D Sone Se3 201 Sozgg
s ¥} vomzed g

B’fﬁﬁﬂ 1,00,000 12%
1) 1,00,000 4%

fsﬂ;‘.‘}mﬂin 3;‘@{ BROE Fadmh o 50,000r mndmaﬁaﬂiﬁgl aauudzg}m. =] ﬁmdﬁi%
Zogodw de. 100 Qond wotd Bmeez) Hou 000 Idoben dexRrdd. Fozdod 301t dom)
ge. 40 Sapiabomd enedl, =0 ﬁﬂgéﬁﬁi‘i‘ ﬁdmeﬁg’a daven 308) Fosoy Aol
20930 worey cﬁda’d.; 503 LBoD,

Ram Ltd and Hanuman Ltd. earn 20% profit before Interest and tax. Their total
assets are ¥ 50,00,000 each. They are identical except that Ram Ltd. uses debt
capital and Hanuman Ltd. does not. They belong to the same risk class.
Ram Ltd. has 9% Debentures of ¥ 36,00,000,

Assume perfect capital markets, rational investors and so on; a tax rate of 10%
for an all equity company.,

Find out the value of companies under :
(&)  Net Income (NI) Approach

(b} Net Operating Income (NOI) Approach.

T35 diin* arle BWSHT Simtnes e S nTy L NS, FedS. & Fo3INY Wt
gede wotde womd %a%ﬂad% O35 9T me wodmeYmA de 99 ﬁzjozsu*rw‘ai
8. 36,00,000 #eoBE. 6dd Bhang® darkle® we WoBIY Brobe, 20EA Fozdrid
ge. 20 ox), wE e VR Swousd enwmod Beohd, Fdoleody Bozdal 2000
O 50,00,000r%hs. wod=ee SROBES, SNTTNG) BABIDNC) FoTPRE =Pid
ﬁmaﬁm%d_

201 Z@3»e de. 10 (Zpwme PSR, ZeOW doIA I03).
B 20B.H Foddriy SRR,
(a) :?;‘):U%f esoaod) A0S Bl

(b Mdﬁ# 3, 55208 umob 33035 aa:i_}ai: g EDb.
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11. Dinesh Ltd. is considering two mutually exclusive Projects A & B. Project A costs
¥ 36,000 and Project B costs ¥ 30,000. You have been given below the NPV and
probability distribution for each project,

Project - A Project - B
NPV Estimates Probability NPV Estimates Probability
%) ()
15,000 0.2 15,000 0.1
12,000 0.3 12,000 0.4
6,000 .3 6,000 0.4
3,000 0.2 3,000 0.1

(a) Compute expected values of Project A and B

(b) Compute the risk attached to each project (i.e. Standard deviation of each
probability distribution) |

(e}  Which project do you recommend? State with reasons.

Bles® daoeses 0T BATEY, SREE o B3y O sow 0@ oiﬂmasnﬁfﬁbq @BredcL3 .

aleesi o i, de. 36,000 ®erie olecss O 23, de. 30,0007, 33 odecmdab DY |

Z3 S39¢), 238) HoyldNeaid Howdabd, ASLrt g d9hmod Aerennd.

oleemd - o odpess - B

OIY B3 IPQT  Boydeand dFY I3 IPOT  BogIdeahs

B0meLD (0.0.) BotRE) (da.)
15.000 0.2 15,000 0.1
12,000 0.3 12,000 0.4
6,000 0.3 6,000 0.4
3,000 0.2 3,000 0.1

(a)  oleens o 303 cdeend A0 ABeRAT aﬁt!ubﬁtl B0 a1,

(b) 3¢ cleexdolrdm TRV, Bory LBoLD. (woBd BIaleomd DoziZdeohd
Bowdob ZSneds o)

(c)  oins aleesdabal, S7e05) SREDE? S0, 392,
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12. From the following information of Yes Ltd. You are required to Forecast working
capital requirement.

(a)
(b}
(c)
(d)
le)
(f)
()
(h)
1)
)
(k)
M

(m)

Expected level of production for the year 16000 units

Cost per unit : Raw materials ¥ 90, Direct labour ¥ 40, Overheads ¥ 70
Selling price per unit T 300

Raw materials in stock on an average for 1 month

Materials are in process on an average for 2 weeks

Finished goods in stock on an average for 1 month

Credit allowed by suppliers is 1 month

Time lag in payment from Debtors is 2 months

Time lag in payment of wages 2 weeks

Lag in payment of overheads is 1 month

All sales are on credit

It is assumed that a period of 4 weeks are equivalent to a month

Cash in hand and at Bank expected to be ¥ 1,00,000.

25 Fozab F9NE IT0ACon Dezy cod2oad wotdTae YIB T Gomam ﬁ&iﬁﬂi}ﬁi& cfevhnla b

(a)
(b)
<)
(d)
(e)
(f)

(g)
(h)

REAFT Bogd@deal TUDTT Tk, 16000 ohradisrieh
3 abeders s B8 SXorieh de. 90, ded 800 da. 40, Soedunids da. 70
@3 cedtsrs SRoeiid e o, 300

imﬁdﬁgﬁm T2 0N sudalns Boesd 83D 1 3ory
3adnde Besndoa JanY 30030 839 2 Zeonh

AT SN DemR ARG suoBtHS S0958 838 1 dorieh

Y Fw00) AR od 830 1 Jon

abeiridy o0 D88 SnEen RcHBLoE 83D 2 Jorshy

5.9 H30E Jelow WD 2 o

Sreddeiriv T3 Hvow BIH 1 Jones

D) IO POT CATHE FEBE

4 Se0nY eaBaly 1 Jonen sEomeRtL3d o m&hﬁ.m%
wooLTwBRE Tt ) w,088AOT By du. 1,00,000.

=]
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13. The following information is available in respect of a firm :
Capitalisation rate = 10%
Earnings per share =¥ 8
Assumed rate of return on Investments
(a) 15% (b) 10% and (c) 5%

Show the effect of dividend policy on market price of shares applying Walter’s
formula when dividend payout ratio is

(1) 25%
Gil  50%and
(m) 75%

Aodody wif Ol 0L BRHIrih B FYATIS :
WoR=YEE0NRE B0 = de. 10

=3 Jety NP wweod = da. 8

®0% Hedd 5350 gl

(@) #e 15 (b) Be 10 &) (c) Be. 5

decony SRouFtod Wdadb Hoed oaweos dedodromanyas ﬁﬁmdﬁﬁigl o0 dababd
@50 B06) LRODD. eeT0s RIS JSPm

i) de 25
(i) Be 50 BorR
(iif) Be 75



